INSTRUCTIONS—INSTRUCCIONES—CONSIGNES
APPLI CATI ONO1®ORQRD EXPLORER
APP PARTL 243565

smﬂuu“‘-°‘°u“’“v CLASS 111 RECEI VER HI TCH
AUTOMOTI VE PRODUCTS, I NC.
San Dimas, Ca
ITEM QUANTITY DESCRIPTION TOOLS NEEDED
1 1 CLASS III RECEIVER ASSY 18MM SOCKET
2 6 M12 SPLIT LOCK WASHER RATCHET
3 6 M12 FLAT WASHER TORQUE WRENCH
4 4 M12 X 40MM HEX CAP SCREWS 17MM WRENCH
5 2 M12 X 30MM HEX CAP SCREWS 18MM WRENCH
6 2 M10 NYLON INSERT - LOCK NUT
7 2 M10 FLAT WASHERS
WARNI NG: Never exceed the capacity ratings shown
owners guide for towing guidelines.
1. Remove contents from box, verify if all parts listed are present and free from damage. Carefully read and understand all instruc-
tions before attempting installation.
Failure to identify damage before installation coul

2. To ease installation, the rear portion of the exhaust system should be dropped. This can be accomplished by removing the three
rear rubber exhaust hangers. A strap of some kind should be used on a forward portion of the exhaust to provide support to pre-
vent damage. FIGURE 1

3. The original exhaust hanger brackets must be removed from the uni-body channels. These will not be re-used once the hitch is
installed. FIGURE 2

4. With assistance, raise the hitch assembly to the uni-body channels. Use the provided M12 x 40mm hex cap screws, split lock
washers, and flat washers to fasten the bottom flanges to the vehicle channel. FIGURE 3

5. Use the provided M12 x 30mm hex cap screws with the remaining M 12 split lock washers and flat washers to fasten the vertical
mounting holes to the vehicle channels. FIGURE 3

6. Align the hitch assembly as desired then torque all M12 hex cap screws to 75-80 Ibs-ft. The exhaust can not be reattached to the
vehicle. Use the existing rubber isolators to mount the exhaust to the exhaust mounts provided on the hitch assembly. Use the
provided M10 nyloc nuts and flat washers to secure the rubber hangers to the hitch assembly. Only tighten until the flat washer
makes contact with the rubber isolator. FIGURE 4, 5

NOTICE: This product complies with all safety specifications and requirements defined for V.E.S.C. regulation V-5 & SAE J684

CARE INSTRUCTIONS
9 BLACKFINISHES SHOULD BE CLEANED WITH MILD SOAP AND WATER

" Westin Automotive Products, Inc. Thank You for choosing Westin products
2:2121 %‘2’:;: }i:l;’dg 1773 For Additional installation assistance please call
° T Customer service (800) 793-7846

1 www.westinautomotive.com
P.N.: 75-65123 REV B ECO #: W15-0999 DATE: 06/18/15



( ITEM4,2,3 &
FIGURE 3

—

Westin Automotive Products, Inc.
Y 320 Covina Blvd
o San Dimas, Ca. 91773

P.N.: 75-65123 REV B ECO #: W15-0999

FIGURE 2

Thank You for choosing Westin products
For Additional installation assistance please call
Customer service (800) 793-7846

www.westinautomotive.com
DATE: 06/18/15



GNA‘\'URE OF QUALITY
S

AUTOMOTI VE PRODUCTS, | NC.
WARNI NGS & NOTI CES
FOR THE | NSTALLATI ON O
WESTI N TOWI NG RPRROBSBGTSEI | RECEI |V
NOTI CE
Westin Receiver Hitches are degugnedreceaveomuohofa
class 111 /1V towing. Closely follow all Westin]]l
product . | mproper installation can result in degt
age. I n the operation of these products, it is m
safety and the safety of others.
Failure to oll ow these instructions could | ead]'t
FASTENERS:
Al'l Westin supplied fasteners must be utilized &n
structions and apply torque toDOUWRLE pEHEGCK cAlll ohA:
BEFORE I NI TI AL USE, AND PERI ODI CALLY I N THE FUTUR
AND SAFETY.
DRI LLI NG:
Most Westin products do not require drilling fo
caution when drilling a vehicle. FAl L
SULT I'N PERSONAL I NJURY AND/ OR I NJURY TO OTHERS| A
EYE PROTECTI ON:
ALWAYS WEAR SAFETY GLASSES OR GOGGLES DURI NG THE
AVOI D PERSONAL | NJURY.
MAXI MUM TOWI NG/ CARRYI:NG CAPACI TY
The Westin Receiver Hitches wildl have a visible]t
er should never exceed the vehicle manufactureré
the capacity of the hitch. FAILURE TO FOLLOW THES
WARRANTY AND MAY RESULT I N PERSONAL I NJURY AND/ DR
VEHI CLE DAMAGE.
p Westin Automotive Products, Inc. Thank You for choosing Westin products
220 %O,Vlna %Vdg 1773 For Additional installation assistance please call
o San Timas, L Customer service (800) 793-7846

3 www.westinautomotive.com
P.N.: 75-65123 REV B ECO #: W15-0999 DATE: 06/18/15



